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2016 mf2{=2t0|d HELAE q7iHa MEH
Mtz 49 a5 1X} 2K} 3Kt ST

50 gh= A IEmg=2tolg 15 4 6 25

8 2= oh=of &y 12 3 16 31

12 A= T=eto|H 2 23 10 35

26 olg ol Il =2to| e 2 22 139 163
44 HEF oh=Ij 2§ 3 159 11 173
35 = S Ao 22 203 22 247
48 Ol MEH SKY para KOREA 194 21 106 321
1 o|X|& CHEIX|Z2EX 182 70 126 378
14 ges CHEIX|Z2 G =X 9 3 367 379
46 olgel FeEmei=atoly 116 227 99 442
27 0| xf e R = 22 4 466 492
31 =X 2 ot If &y 4 2 500 506
17 Ol St Mo a 4 10 500 514
22 otEg| LIS 4 500 11 515
32 AMEE =agsHE 9 6 500 515
19 RIPSES] CEIX|Z2C =% 11 17 500 528
34 o|&al I =20l E 6 22 500 528
13 A WEIPNEEEES 11 20 500 531
9 s X1 5| Foe| Mo e 49 14 500 563
10 UE= QZED 2|0t 13 500 57 570
6 a7 2HEZUE 21 70 500 591
36 o] of 204 245 165 614
16 =t =883 HE 86 458 102 646
47 g S Mo a 6 500 141 647
2 O|CtHA SKY para KOREA 106 500 85 691
5 2 XA St of &y 189 3 500 692
18 s i =20l E 165 37 500 702
25 O|Ef== St of &y 500 241 11 752
11 NS CHfo2{=2tol g 2 260 500 762
23 *| & o} SKY para KOREA 11 500 310 821
4 MHE SKY para KOREA 90 332 477 899
28 23 QEF 2|0t 500 75 324 899
29 e I =2t0| e 403 282 236 921
43 O|SH Azto|ije{22tolg A2 153 500 279 932
21 L3 = HOFX}S H| &H 21 500 500 1021
33 St S5 stagzZx 500 326 222 1048
24 b 1454 SHEYEX TS 500 500 106 1106
7 HdY =4gsdE 500 415 250 1165
49 PN SKY para KOREA 181 500 500 1181
38 AX¥ o} ClEIX|Z 25X 500 500 189 1189
40 AR ot If &y 500 500 233 1233
42 O| Xyt SKY para KOREA 500 246 500 1246
15 R =agSHE 253 500 500 1253
51 4= QIM I 2{ 2210|233 500 270 500 1270
3 20l = agSHE 500 296 500 1296
20 M=4 CHotmaf A 500 348 500 1348
30 Z[ 2 E Rl e m =] 383 496 500 1379
41 0| 5% gH e 22to|gA S 500 500 500 1500
37 o= FA M3 500 500 500 1500
39 AT 2 A0§L|O} 500 500 500 1500
45 Z3d WEIPNEEI=ES 500 500 500 1500




